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Notice that the Quadratic Formulais only used if we have 0 on one side.


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says r; and rp are of:

ax> +bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says r; and rp are of:

ax? 4+ bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we
x? —2x +12 =3x>+2x — 18


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we :
x2 —2x 4+ 12 = m//»/'/
=0


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we

x2 —2x 4+ 12 = m//»/'/

—2x%2 —4x+30=0


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we

x2 —2x 4+ 12 = m//»/'/
—2x%2 —4x4+30 =0
—(b) + 1/(b)? — 4ac
2a

na =


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we

x2 —2x 4+ 12 = m//»/'/
—2x%—4x+30=0
—(b) + 1/(b)? — 4ac
2a

na =


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we

x2 —2x 4+ 12 = m//»/'/
—2x%2-4x+30=0
—(b) & 1/(b)? — 4ac
2a

na =


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we :
x2 —2x 4+ 12 = m//»/'/
—2x?—4x+30=0
—(b) & 1/(b)? — 4ac

na =

r172 — 2 . (72)


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we :
x2 —2x 4+ 12 = m//»/'/
—2x?—4x+30=0
—(b) & 1/(b)? — 4ac

2a
1)+ \/(74)2 —4-(-2)-30
ro2 = 2 (—2)
4+ /16 + 240

—4

na =



http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we :
x2 —2x 4+ 12 = m//»/'/
—2x?—4x+30=0
—(b) & 1/(b)? — 4ac

n2 =
2a
1)+ \/(74)2 —4.(-2)-30
r1,2 - 2 k (72)
_ 4++/16 + 240
N —4
4 4+ /256

—4


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we :
x2 —2x 4+ 12 = m//»/'/
—2x?—4x+30=0
—(b) & 1/(b)? — 4ac

rp =
2a
—4) £ /(-4 -4 (-2)-30

e 2-(-2)

4+ /16 + 240

N —4

4+ /256

- -4

4416

—4


http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we

x2 —2x 4+ 12 = m//»/'/
—2x%—4x+30=0
—(b) & 1/(b)? — 4ac

2a
1)+ \/(74)2 —4.(-2)-30
r1,2 - 2 k (72)
4 4+ 4/16 4+ 240
—4
4 4+ /256
—4
4416
—4
20 —12

=~ and —=
— and —,

na =



http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we

x2 —2x 4+ 12 = m//»/'/
—2x%—4x+30=0
—(b) & 1/(b)? — 4ac

2a
1)+ \/(74)2 —4.(-2)-30
r1,2 - 2 k (72)
4 4+ 4/16 4+ 240
—4
4 4+ /256
—4
4416
—4
20 —12

:jad—4:—5and3

na =



http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf

Solve the equation: x? — 2x + 12 = 3x% 4 2x — 18:
Recall: The says ri and rp are of:

ax>+bx+c=0
Notice that the Quadratic Formulais only used if we have 0 on one side.

We can get 0 on the right hand side if we :
x2 —2x 4+ 12 = m//»/'/
—2x?—4x+30=0
—(b) & 1/(b)? — 4ac

rn2 =
2a
1)+ \/(74)2 —4.(-2)-30

e 2-(-2)

4+ /16 + 240

B —4

4+ /256

- 4

4416

- 4

20 ~12

=gz d—4:—5and3
The solutions to —2x2 —4x+30=0are: x=r = —5,3
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